Integration 291

Exercise 9E

Integrate with respect to x:
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cosx = y to find Jsin3 xdx.

Find Jcos3 xdx and Jsin5 xdx.
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41 Use the identity cos® x + sin® x = 1 and the substitution

Use the identity sec? x = tan®x + 1 and the substitution

tan x = u to find J tan* x dx.

Find (a) Jsec4 xdx (b) J cot* x dx.
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Exercise 9B

[The constant of integration is omitted in

indefinite integration.]

1 %x—}‘sin2x 2 —cotx—x

3 .

3 ltan2x—x 4 7x—|-2sinx+%sm2x
5 3x-+4cosx —sin2x

5x
2
8 In|x—3|—2In|x—2|

9 In|x—1]—2In|2x+ 1]

10 lnj2x+1]—Ln|3x+ 1|

+isin2x+tanx 7 iln

x—2
x+2

2x +1 34+ 2x
11
. 3x+1| 12 1n.3—2x
13 4=1,B=1,c=-1;
x—1
x+%1nx 1‘

14 74+ 150
16 241 17 @ I-1 (b) I+1
Exercise 9C

[The constant of integration is omitted in
‘indefinite integration]
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Exercise 9D
[The constant of integration is omitted in
indefinite integration.]
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Exercise 9E
[The constant of integration is omitted in
indefinite integration.]
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Exercise 9F
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1

0 N U W

10
12
14
16

17

18
19

20

y=ie¥14C 2 x4el™=C
4y =2x+sin2x+C 4 tany=x+C .
2Iny=x*4+C 6 e7+e*=C
siny=xlnx—x+C
y+2=C(x+1)

2

1nx+x—+C

Iny = >

11 6y = 2x> + 3x?

3py=sin’x—1 13 In(3y+1)=3x-3

27 +x2-3=0

2tany = x — sinxcos x
2 2

: 11
siny =4 ——
X

y* =2cosecx + C

15 2siny =secx

y* =2tanx(tanx + 1)+ 5
ycosy —siny =

y—1

——XSH’I)C—COSX

2sin’ x

y+1 3




